(B2 AROYH ] ERE

R—IH .
RESS o *
1.1.3 &i
p.6 &P S N(r) = (r)y(r) N(r) =T (r)p(r)
217H

p.35 & (1.146)

I N
:m/o d'{([0,(t"). Oul)o-

Er o
1447H

[LA(t)=—cEt zH\5.]

[LA(t) = £ Be ™t &N 5.

p.36 2 (1.158)

A~ A

, #(
Ko () mv/d Fu(t), 7)o

o
mv/dtJ ), Julboet.

L (1.1
p.36 i% B rgr, Bw) = iwd,w) THS.] (¥72, Eu(w) = i(w/c)Au(w) TH 5.
2 (1.169) R R
p.38 LH G, d,t) = ——=iO(t —t) % ..... G, d t) = ——=iO(t —t) ; .....
Z’ . 7 — % —Lm
39 ALY —i0(t' — 1) Y En) t) Yy ettFeEm)
. N lm Lm
il X[ (€|Oglm) |* (e~ 4 e=FFm) X (£)Oalm) (m|O}, ) (e 7P 4 e=PFm)
1 . 1 . .
= — 6 Oa 2 - 5 E OO& OT/ 6
. £ (1.172) Z%\( Oalm)| Z;; |Oalm)(m|O,, [€)
' AU —BE, —B’E 1 —BE, —BE, 1
2 m 4 :l: m
S I oy sy x(e ) ST E—Fat
39 = (1.173) Gla,d ;1) = %tr[e_ﬁ(ﬁ_“m Gla,d,7) = ltr[e_ﬁ(ﬁ_“m
p- - . .
1/7H x Oa(1)O1(0)] x Oa(7)0L,(0)]
(1. 1 . 1 . .
P39 ?%19173) = =g IO | = =5 3 e T B 00 ) O
1 . 1 , .
=— 0|O4]m)|? = =S (|O, ol e
b AT Z;K Oalm)| ZZ; Oalm)(m|O,[0)
P2 et ’ !

1
—BE, —BEn,
R vy
n m

—BE —BEm
SR vy ey o
n m




